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I11 Semester B.B.A. 3 Degree Examination, Nov./Dec. - 2019
ENTREPRENEURSHIP DEVELOPMENT
(Regular)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1.  Write the question numbers correctly.
2. Section ‘D'is compulsory.

SECTION -A
. Answer any Ten of the following : (10x2=20)
1. Whoisan Entrepreneur?

2. Whatis Persistency?

&

What is Agency?

=

What is KVIC?

h

Mention any 4 causes ol Industrial sickness.

6. Define MSME.

=

What is Copyrights?

o

Who isan Immitative Entrepreneur?
9.  Whatisan (pow)and n (aff)?
10.  Who are venture capitalist?
11.  Whatisa Business plan?
12.  State 2 function of SIDO.
SECTION - B
Il.  Answerany Four ofthe following : (4x5=20)

13.  Write short note on - Make in India concept and its impact on India’s GDP.

P.T.O.
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Briefly explain any 2 types of Entreprencurs?

—
h

Briefly explain :

. Public .td Coand

2. Sole Proprietorship form of business.

16.  What are the hurdles faced by rural entrepreneurs in todays scenario.
17. Writea note on Dhirubhai Ambani’s entrepreneurial successful journey?

18.  What are the functions of commercial banks with other supporting agencies o boost
entrepreneurship.

SECTION-C
II.  Answerany Three ofthe following : (3x10=30)
19.  Entrepreneur plays a vital role in economic development? Explain.
20.  Entrepreneur isa True innovator. Discuss your views.
21.  Explain various problem and suggestive measures for SSI's progress.
22.  What are the charms of being self - employed?

23, Write short notes on ;

a. Branding - a tool for success.
b. DIC - as a support agency for entrepreneur.
SECTION-D
IV.  Compulsory (1x10=10)

24.  Prepare a project report on
a.  Fasttfood outlet

OR

b. I'wo wheeler service station.

N
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II1 Semester B.B.A. 3 Degree Examination, Nov./Dec. - 2019
QUANTITATIVE TECHNIQUES
(Regular)
(New Syllabus)
Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:

10.
11.

12.

1.  No use of scentific calculator.
2.  Simple Calculator is allowed.
3.  Section ‘D’is compulsory.

SECTION -A
Answer any Ten of the following. Each carries 2 marks. (10%x2=20)

What is correlation? Name two variables which are correlated.

If Z d* =0, what s the value of spearman’s rank correlation coefficient.

Indicate scatter diagrams forr=+1 andr=-1.
Define equally likely events with an example.

What is complement of an event give an example.

1 1 1
IfP(A)=B,P(B)=Z and P(AﬁB)=§2— then find the value of P(4U B).

Express variance in terms of expectation.

What is meant by probability distribution.

Write down the range and parameters of Binomial distribution.
What are the mean, variance and S.D of a poisson distribution.
What is type I error and type II error?

What is two tailed test?

P.T.O.
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SECTION-B
Answer any Four of the following. Each carries 5 marks. (4%5=20)
What are properties of normal distribution? :
For the following probability distribution find E(X) and Var(x), E (2x-+3).
X -2 3 1

Lo
p(x) 3 > 6
A machine has two parts A and B. In a given period the probability of failure of part Ais 0.07 and that
of B is 0.05. What is the probability that the machine fails in that period?
In a college 60% of the students are boys. In a random sample of 3 students, find the probability of
getting
1) two boys
ii)  atleastoneboy.

A random sample of 400 tins of vanaspati has mean weight 4.96 kg and standard deviation 0.4 kg. Test
at 1% level of significance that the average weight of tins of vanaspati is 5 kg?

(Critical values -2.58 and +2.58)
Calculate spearman’s rank correlation from the following data.
X 2SR RES 10 ElESS3 - 7
Y 14 8 6 9 EE - 012 - 53
SECTION-C
Answer any Three of the following. Each carries 10 marks. (3x10=30)

Monthly income of employees follow normal distribution with mean Rs. 18000 and standard deviation
Rs. 800. Find the probability that the employees with monthly income

1) less than Rs. 20000
i)  lies between Rs. 16000 and Rs. 17000.
(Table value 0 to 2.5 is 0.4938 and 0 to 1.25 is 0.3944).

The following data relates to the number of defective items in a sample of 5 for 500 samples taken

during a week.
Number of defectiveitems 0 1 2 3 4 5 total
Number of samples. 168" 180 120 20 10 2 500

Fit a Binomial distribution to the data. Obtain the theoretical frequencies.
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3.  From the following data test weather mean daily. Wages of workers of factory A and Factory B are

equal
Factory No.ofworkers  Meandaily wages (in Rupees) S.D. (in Rupees)

A 200 195 20
B 450 200 30
Testat 1% level of significance.
; (critical values are -2.58 and +2.58)

4.  Calculate the coefficient of correlation by Karl pearson’s method from following data relating to overhead
expenses and cost of production. ,

Over head (000 Rs.) 80 90 100 110 120 130 140 150 160

Cost (000 Rs.) 1See A5 w16, . 19 - 17 . .18 16 - 18 19
5.  Inacorrelation analysis between production and price of a commodity, the following data are obtained.
Production index (x) Price index (y)
Arithmetic mean 110 - - 98
Standard deviation 12 5

Coefficient of correlation between production and price is -0.4. Obtain both the regression equations.
and estimate the price index when the production index is 116.

SECTION-D
Compulsory : - (1x10=10)

From the following data, test wheather ‘education’ and ‘employment’ are independent at 1% level of

significance.

Employment
Education Employed Unemployed
Educated 20 18
Uneducated 15 25

Apply chi - square test to see wheather education and employment is same.

Table Value y;, =6.63
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III Semester B.B.A.2 Degree Examination, Nov./Dec. - 2019

FINANCIAL MANAGEMENT
(Repeater)
Time : 3 Hours Maximum Marks : 80
SECTION -A

Answer any Ten of the following: (10x2=20)
1.  Define Financial management. '
2.  Whatis over capitalisation?
3.  Whatis fair capitalisation?
4.  Whatis cost of capital?
5.  Whatis Final dividend?
6.  Whatis Bonus shares?
7.  Whatis Leverages?
8.  Whatis high geared company?
9.  WhatisEPS?
10. Whatistrading an equity?
11. Whatis profit maximisation?
12. Whatis wealth maximisation?

SECTION-B

Answer any Five of the following: (5%8=40)
1.  Calculate weighted average cost of capital.

Source of capital Book value Cost of capital

) Debentures 1,00,000 8%

i)  Preference shares 2.,00,000 10%

i)  Equity shares 4,00,000 12%

P.T.O.
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Calculate operating leverage & Financial leverage contribution is Rs. 80.000 fixed cost 40,000 &
Sales 2,00,000, interest 10,000.

Write functions of Finance Manager.
Explain the factors affecting dividend policy.
Write note on profit maximisation.

Ramesh Itd issued 40000 10% preference shares of Rs. 100 each. The cost of issue is 2%. Find out the
cost of preference share capital if

1) Issued at Par
i)  Issuedat 10% Premium
i)  Issued at 10% Discount

The Balance-sheet of Infosys company is as follows

Liabilities Amount Assets Amount
Equity share capital 1,00,000 Fixed Assets 1,00,000
(10000 shares of Rs.10 each)

General Reserve 30,000 Current Assets 80,000
Profit & Loss A/c 20,000

Current Liabilities 30,000

The normal rate of eaming in similar companies is 15% Ascertain the capitalisation if earning available
to Equity shareholders are

a)  Rs.12,000 b) Rs.15,000 ¢) Rs.20,000

SECTION - C (compulsory)
(1x20=20)

The existing company wants another Rs. 2.00,000 addition cépital, company wants fo raise this amount
by following ways

) Issue of debentures 10%

)  Issue of Equity shares




R 3)

iii)

Issue of Rs. 1,00,000 Equity shares & Remaining preference shares
The existing capital structure of Ganesh Itd is as follows:

4000 5% Debentures of Rs.100 each 4,00,000

2000 8% preference shares of Rs. 100 each 2,00,000

4000 Equity shares of Rs. 100 each 4,00,000

Advise the company by making EBIT- EPS analysis.

21321/C301

P.T.O.
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III Semester B.B.A. Degree Examination, Nov./Dec. - 2019
PERSONALITY DEVELOPMENT AND LIFE SKILLS

(Regular)

Time : 3 Hours _ PART-A Maximum Marks : 80

Answer any Ten questions. . . (10x2=20)
1.  Mention the traits of personality.
2.  Whatis body language?
3.  Define personality.
4.  Whatis SWOT analysis?
5.  Whatdo you mean by grooming the self?
6.  Whatisselfanalysis.
7.  Whatis gratitude?
8.  Whatiscritical thinking?
9. Deﬁne leadership.

| 10. Define decision making.
11. Whatis team work?
12. Whatis lateral thinking?
PART-B
Answer any Four questions : ' (4%5=20)

13. Explain the styles of leadership.
14. Explain the nature of personality.

15.  Explain the features of leadership.

~ 16.  Explainthesignificance of personality development.

“17. Explain the techniques of build self confidence.

18. - Explain the attributes of SWOT analysis.
’ PEO;
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Part-C
Answer any Three questions :
19. Explain the social etiquettes in business.
20. Explain the determinants of personality.
21. Explain the necessity of team work.
22. Explain the different types of decisions.
23. How the personality can be groomed? Explain.
Part-D
Compulsory
Answer the question.
24. Explain the concept of Johari Window.

0

(3x10=30)

(1x10=10)
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111 Semester B.B.A. Degree Examination, Nov./Dec. - 2019

COMPUTER APPLICATION - I

(Regular)
Paper - 1

Time : 3 Hours
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13.
14.
15.
16.

SECTION-A
Answer any Ten questions.
What is a software? List the types.
What is the purpose of operating system?
Listany 4 symbols used in flow chat.
What is a datatype? Give example.
Differentiate between data and information.
Explain any two characteristics of computer.
Define compiler.
List the decision control structures.
Define preprocessor directive.
Define cache memory.
What is a low level language?
Give the syntax of scanf.
SECTION-B
Answer any Four questions :
Explain second and third generation of computers.
What is an algorithm? Explain its characteristics.
What is a loop in C? Explain any 2 types of loop.

Give the classification of information.

Maximum Marks : 80

(10x2=20)

(4x5=20)

PO
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17.
18.

19.
20.
21.

22.

23,

24,

Draw the flow chart for cémputation of basic calculator. (Add, sub, multiple, divide).
Explain types of memory.
_ SECTION-C
Answer any Three questions : (3x10=30)
Define computer. Explain with the block diagram the different parts of computer.
Explain the different types of operating system.

Write a C program to find the factorial of a given number. Give the al gorithm and flow chart for th
same.

Short notes : (any two)
a)  Armays
b)  System Analyst
c)  Problem solving
d)  Input/Output devices.
Define MIS. Give the roles of MIS. :

SECTION-D

Compulsory i (1x10=10)

Write a C program to subtract two matrices of the same order.
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IIT Semester B.B.A. 3 Degree Examination, Nov./Dec. - 2019
FUNDAMENTALS OF COST ACCOUNTING
(Regular)
Paper : 1
Time : 3 Hours Maximum Marks : 80
Instructions to Candidates: ‘
1.  Simple calculator is allowed.
2.  PartDis compulsory.
PART-A
Answer any Ten of the following. (10%2=20)
What is Costing? |
State any two objects of cost accounting.
What is minimum stock level.
Whatis EOQ?
What is “Bin card’
What is Abnormal gain?
What is overheads?

What is reconciliation statement?
What is P/V Ratio?
10. Name any two items which are charged in financial account?
11. Whatis marginal costing?
12. Whatis machine hourrate?
PART -B

Answer any Four questions: (4%5=20)

13. Whatis cost - sheet? Give its brief format?

14. Explaindifferent stock levels?
P.T.O.
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16.
17.

18.

Write short notes on

a)  FIFO method

b)  Material control.

Define overheads, Distinguish between direct expenses and indirect expenses.
From the following prepare cost sheet. -

Stock of raw - materials on 1-1-2000

Purchases of raw - materials

Productive wages

Stock of finished goods on 1-1-2000

Works expenses

Administration Expenses

Selling Expenses

Sales

Stock of raw materials on 31-12-2000

Stock of finished goods on 31-12-2000

From the following data you are required to determine EOQ.

Annual consumption -8000 units

Cost per unit - Re. 0.30.

Buying cost - Rs. 7 per order.

Storage and carrying cost as a percentage of average inventory holding 15%.

PART -C
Following particulars are supplied in respect of machine No. 100.
Standing charges mf month.
Rent (for the month)
lighting (for dept. 2 out of 10 light points for the machine)
Sundry stores (for the machine)
Supervisory salary (Time devoted to the machine being one half)
Other expenses

AR AR

Rs. 1,50,000
Rs. 5,00,000
Rs. 2,40,000
Rs. 4,30,000
Rs. 1,80,000
Rs. 2,70,000
Rs.2,50,000
Rs. 15,00,000
Rs. 1,70,000
Rs. 6,00,000

(3x10=30)

Rs. 50
Rs.30
Rs. 20
Rs. 500
Rs. 90
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21.

Variable expenses.

Power 16 units 6 paise per unit per hour
Effective working hours for the machine 2160 p-a.
Other expenses Rs. 1.30 per hour.

During the month of March 1997 machine worked for only on job No. 100 total hours
worked being 150. The remaining 30 hours were lost due to lack of proper planning. The direct
cost of material and labour on the job amounted to Rs. 500.

You are required to calculate machine hour rate.

A product passes through three distinct processes for completion. Three processes are A, B and C
During the week ended 31-3-1990. 2000 units are produced.

The following information is obtained.

Particulars Process A Process B Process C
Material - Rs. 10000 Rs. 4000 ~ Rs. 4000
Labour ‘ Rs. 6000 Rs. 6000 Rs. 2000
Direct expenses Rs. 2000 Rs. 800 Rs. 1600

The indirect expenses for the period were Rs. 5600 apportioned for the process on the
basis of wages prepare process accounts.

The following particulars relate to receipt and issues of material during may 2016.
May4  Received 500 units @ Rs. 2.00 p.u.

May 8 Received 350 units @ Rs. 2.10 each

May 12  Issued 600 units

May 16  Received 600 units @ Rs. 2.20 each

May20  Issued 450 units.

May24  Received 500 units @ Rs.2.30 each

May 28  Issued 500 units

May 30  Issued 100 units

Prepare stores ledger account under FIFO method.

P.T.O.
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22.

23.

24,

The cost books of M/S sultan Itd Revealed a profit of Rs. 28660. Where as profit as per financial

book was different. The reasons for differences were as under.

Depreciation charged only in financial book Rs. 800
Bank interest Rs. 30
R.D.D. Rs. 570
Directors fees charged only in financial book Rs. 650
Income tax Rs. 8300
Over recovery of overheads in cost book : Rs. 180

Prepare reconciliation statement and find out profit as per financial book.
You are given the following data.

Year Sales Profit
1980 . Rs. 1,20,000 “Rs. 8000
1981 Rs. 1,40,000 Rs. 13000
Find out :

1)  P/VRatio

2) BEP

3)  Profit when sales are Rs. 1,80,000
4)  Sales required to earn a profit of Rs. 12,000.
5)  Marginof safety in 1981.

PART -D
Compulsory

Find which of the product mix is most profitable from the following :

Product X Product Y

(per unit) (per unit)
Sales price 200 300
Raw materials 40 80
Direct wages 50 60
Variable overheads © 30 40

The fixed cost Rs. 2,00,000
. X 10000 units and Y 6000 units.
I. X 8000 units and Y 8000 units.
II. X 4000 units and Y 12000 units.
Also find the net profit from the best product mix.

(1x10=10)
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(Regular)

Time : 3 Hours - Maximum Marks : 80
Section -A

Answer any TEN of the following : ‘ (10x2=20) |

1.  Define internal Reconstruction.

2.  Define Goodwill.

3.  Whatis Net Assets method?

4.  Whatis Amortization?

5.  Mention methods of valuation of shares.

6.  What do you mean by profit prior to incorporation?

7. Name the types of good will.

8.  Whatis over subscription?

9.  Define Reconstruction.

10. Whatdo youmean by financial statement?

11. Whatis forfeiture?

12. Givetwo examples of expenses that are chargeable after incorporation.
Section - B

Answer any FOUR questions : (4%x5=20)

13. Whatare the features of goodwill?

14. Explain need for valuation of shares.

15. Distinguish between purchased Goodwill and Non purchased goodwill.

16. Bad luck co. Itd decided to go in for internal reconstruction which was approved by the court. The

Reg. No.

III Semester B.B.A. 3 Degree Examination, Nov./Dec. - 2019
CORPORATE ACCOUNTING - 1

scheme of Reconstruction is as follows.

P.TO.
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17,

18.

19.

)

b)
c)

1,00,000 equity shares of Rs. 10 each fully paid by reduced by Rs. 7 per shares.
20,000 shares of Rs. 100 each fully paid be reduced by Rs. 20 per share.

The reduction amount of share capital is utilised to write off accumulated loss balance of Rs.
460000 and the balance is used to write off the patents.

Pass the journal entries.

The following information is given to you by A ltd.

1)

Paid up share capital consists of
a) 4000 15% preference shares of Rs. 100 each
b) 80000 equity shares of Rs. 20 each fully paid

i)  Average Annual profitafter tax Rs. 300000.
i)  The company transfers Rs. 30,000 to General Reserve
iv)  The Normal rate of return is 20%. |
v)  Find value pershare using Yield method.
Star company ltd issued 3000 equity shares of Rs. 200 each at par. The amount was payable as
follows.
a)  Rs.50 onapplication.
b)  Rs. 75 onallotment.
c) Rs.75onfirstand final call
All the shares were subscribed and money duly received pass journal entries.
Section - C
Answer any THREE of'the following. ' (3X10=30)

From the following information relating to MK Litd prepare the statement of profit and loss for the year
ending 31-3-2019 in the prescribed form.

LU T~ TS B (S )

Particulars Debit Credit

Opening stock of raw materials (1-4-2018) 150000 -
Purchase of raw materials ' 330000 -
Purchase of stock in trade , 105000 -
Opening stock of finished goods (1-4-2018) 120000 -

Opening stock of work in progress (1-4-2018) 30000
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6 Opening stock of stock in trade (1-4-2018) 60000 -
7 Salaries 4 wages 114000 -
8 Contribution to provident fund 18000 -
9 Staff welfare expenses 6000 -
10  Interest Expenses 9000 -
11 Other borrowing costs 3000 -
12 Powerand fuel 540000 -
13  Rentand taxes (Excluding income tax) 120000 -
14  Repairs 150000 -
15  Insurance 90000 -
16 Royalties 270000 -
17  Auditors Fees 120000 -
18  Miscellaneous Expenses ) 60000 -
19  Profiton sale of investment 1 12000
20 Losson sale of Fixed assets 30000 -
21  Currenttax : : 105000 ' -
22  Defered tax 3000 -
23  Saleof products - 2250000
24  Other operating income ’ - 225000
25  Exciseduty 150000 -
26 Interest from banks - 48000
27  Dividend on investments - 9000
28  Other non operating in comes 39000
2583000 2583000
Adjustments
i) Closing stock of goods on 31-3-2019
a)  Stockintrade 66000

P.T.O.
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20.

21,

22.

b)  Finished goods 126000
¢)  Work in progress 36000
d) Rawmaterials 180000

Provide Depreciation of Rs. 60000 on fixed Assets.

- The Net profits of Sumit Ltd after provides of for income tax for the past 5 years are Rs. 88000

Rs. 80000, Rs. 112000, Rs. 92000, Rs. 128000 respectively.

The average cabital employed in the business Rs. 800000.

The normal rate of return is 10%.

Itis expected that the company will be able to maintain its super profit for the next 5 years.
You are required to calculate the value of goodwill oﬂ the basis of

a)  5years purchase of super profit.

b)  Capitalization of super profit method.

Rani Ltd issued 5000 equity shares of Rs. 200 each. The amounts were payable as follows.

a)
b)
¢)
d)

Rs. 40 on Application

Rs. 60 on Allotment

Rs. 60 on first call

Rs. 40 on final call.

The public applied for 7500 shares. One share holder failed to pay final call money on 200

shares. All these shares were forfeited and re - issued at Rs. 180 per share. Pass journal entries.

Following is the balance sheet of S Ltd as on 31-3-2019.

Particulars Note no. Amount
Equity and liabilities

Share holders funds

Share capital

Reserves and surplus _ 1 1200000
Non current liabilities - Debentures 2 (-) 870000
Current liabilities 500000

Trade payables - sundry creditors ; 700000
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Totalequityandliabilities ' | 1530000
Assets
1. Noncurrent Assets :
Tangible fixed Assets 3 780000
Intangible fixed Assets - Good will 200000

2 Current Assets

Inventories - stock : 370000
Trade receivable - Debtors ‘ 180000
Total Assets 1530000
Notes to Balance sheet | :
Note -1
Share capital
12000 equity shares of Rs. 100 each fully. paid 1200000
Share capital 1200000
Note - 2
Reserves and surplus
Surplus - loss as per Pand L A/C (-) 870000
Reserves and Surplus (-) 870000
Note -3
Tangible fixed assets
Land and Buildings 500000
Machinary 260000
Furniture . 20000
Tangible fixed assets 780000

Itis resolved to reconstruct the company on the basis of following scheme.
)] The 12000 shares of Rs. 100 each are to be reduced to Rs. 50 each.

i)  Debenture holders are to be discharged by the issue of 8000 shares of Rs. 50 each in full
settlement of their claims.

P.T.O.
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23.

i) ~ The claims of creditors be reduced by 50% as agreed by them.

iv)  The amount available be used to write off profit and loss account. 50% of good will Rs.20000 of
Stock and Rs. 30000 of machinary and also provide for doubtful debts to be made for the extent
of Rs. 10000

Journalize the transactions and prepare the balance sheet after reconstruction.

The following is the balance sheet of Avani Ltd on 31-3-2019.
Particulars Noteno. Amount
Equity and liabilities

1. Share holders funds

Share capital 1 100000
Reserves and surplus - General reserve : 30000
2. Trade payable - Sundry creditors 94000
| Total equity and liabilities 224000
. Assets
Non current Assets
Fixed Assets - Tangible Assets 2 120000
Intangible Assets - Patents 10000
Current Assets
Trade receivables - Debtors 44000
Inventories - stock 24000
Cash and Cash equivalents =g 26000
Total Assets | 224000
Notes to Balance sheet
Note -1
Share capital
1000 equity shares of Rs. 100 each fully- paid 100000

Share capital 100000
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Note - 2

Tangible assets

Buildings 55000

Machinary 65000
Tangible Assets 120000

Additional information :

a)  Theexperts valued Buildings at Rs. 120000 Goodwill Rs. 80000 and machinary Rs. 60000.

b)  Outof Debtors Rs. 4000 value of debtors is Bad.

¢)  The profits of thé company were 2017 Rs. 42000-2018 - 35000 2019 - Rs. 47000.

d)  Thecompany followsa practice of transferring 20% of profits to general reserve.

e)  Similar companies earn at 10%.

Calculate value per share by using
i) Intrinsic value method
i)  Yield method.
Section - D

Compulsory (1x10=10)

Samruddi Ltd was formed on 1-7-2018 to take over the business of swati Ltd with effect from 1-4-
2018. The following was the position of the profit and loss account proposed for the year ending 31-3-

2019. 7
Particulars Amount
Revenue from operations 1680000
- Total Revenue 1680000
Expenses
Cost of sales 1330000
Salaries and Allowances 80000
Interest on Debentures 9000

Interest to vendors (up to 30-9-2018) - - 5000
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Directors Fees ‘ 9000
Rent and rates ' 17500
General Expenses 24000
Commission on sales 128000
Advertisement - ; : 7000
Depreciation ' | 32000
Audit fees ' 5000
Total Expenses 1546500

Profit : 133500

Total 1680000

Additional information :
1) Thesales for pre incorporation period is 240000 and for After incorporation period is 1440000,

2)  Rent was paid Rs. 1000 per month up to 30-6-2018 and there after it was increased to Rs.
1500 per month.

Prepare the statement showing profit prior to incorporation of the company.




